
Innovation Maker  Table
Assembly Instructions : All Laminate, 
Dry Erase and Hardwood Tops

Tools Required for Assembly:

•  Cordless Screwdriver with #2 Phillips bit

•  3/8” Ratchet with 7/16” or 11mm Socket

Step 1.  Leg & Stretcher Assembly:

A) Lay the Table Top upside-down on a clean surface, 
(such as the flattened packing carton). Place the Leg 
Assemblies and Stretcher in their rough positions.

Attach the Stretcher to the Leg Assemblies by 
threading four Hex Bolts with Split Washers 
finger-tight into the Threaded Inserts. Repeat for the 
second Leg Assembly.

Do not fully tighten these bolts yet.

Step 2. Table Top Attachment:

B) Position the Leg Assembly by aligning the slotted 
holes in the Top Support Plates with the  pre-drilled 
pilot holes in the Table Top. Install 3/4” Wood Screws 
and tighten until snug. Do not overtighten.

After all screws have been installed, fully tighten the 
Hex Bolts connecting the Stretcher to the Leg Assem-
blies. The Split Washer will be fully compressed when 
the bolt is correctly tightened.

C) Install the four Casters by threading the stem into 
the square plastic caps on the end of each leg.

With a helper, turn the table upright.  The table can 
be easily rolled into place and secured using the 
caster locks.

* Optional:
If you ordered a center support, attach it at location 
(D) using bolts, washers and screws provided.

Included Hardware:

28 x 3/4” Wood Screws

8 x 3/4” Hex Bolts

8 x Split Washers

For Customer Service Call 1-800-999-0386 alliedusa.com
R112321

®

Leg Assembly

Top
Support
Plate

Threaded
Inserts

Hex Bolts
with Split
WashersStretcher

3/4” Wood
Screws

Pre-Drilled
Pilot Holes

A

B C

D *


